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ESECT 3

(English version)

Q. 1 Explain the Lagrange method to maximize the utility function subjec:c to budget constraint.
OR
(a) The demand function of a commodity is x = 50 + p - p2. Calculate the elasticity of demand
when the price of the commodity is 5. ‘
(b) U=xy+2xis a consumer's utility function. His budget function is 4x + 2y = 60. Find
iuantities of x and y that maximize the utility function subject to the budget restriction.

Q. 2 Explain the Cobb-Douglass production function and its characteristics with illustrations.
OR
(a} Define homogeneous praduction function. Test whether the following functions are
hornogenous or non-homogenous.
Q= 2%% + xy + y2
Q =3x3 +5xy° +y3
(b} Write a short note on the Elasticity of technical substitution.

Q. 3 (a) The demand function of the product of a monopoly firm 'is Q =400 — 20p. The total cost

functionis C= % + 5Q. How many units should be produced to get maximum profit?

(b) Explain the relationship between marginal revenue, price and elasticity of demand under

manopoly.
OR

(a) In a city there are a large number of firms selling a product and no single firm has any
control aver the price of the product. The total revenue function is TR = 10Q and the cost
function is TC = 1000 + 20+ 0.01Q2%. Determine how many units of the product a firm will
produce per annum if it aims at profit maximization.

(b} Derive mathematically the equilibrium conditions of a firm.

Q. 4 Explain the Walras-Cassel model of general equilibrium.
OR
(a) Distinguish partial equilibrium and general equilibrium.
(b) What is equilibrium? Expiain the Static stability of equilibrium.

Q. 5 Answer in short. {Any seven)

.. Define supply elasticity.

. Write Stutsky equation.

. Define indifference curve, _

. Write the meaning of production possibility curve.
. What is Law of increasing returns?

. Define price discrimination.

. Define product differentiation.

. What is oligopoly?

. What is duopoly?

10. Give the meaning of partial equilibrium. | ‘
11. What is market equilibrium?

12. What is Parato optimality?
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(English version)

Q. 1 Derive the Slutsky equation for two commodities and explain an economic intefpretation of it. (14)
OR

Define utility function. Fxplain any one method to maximize the utility function subject to budget

constraint. , (14)

Q. 2 Explsin the production function and discuss the characteristics of the Cob-Douglas production functien. (14)
CR

Explain the characteristics of CES production function mathematically. (14)

Q. 3 (a) The demand function of the product of a monopoly firm is X = 75 -3p. The total cost function is (07)

C= if‘»l;; + 3%+ 50, Find out the equilibrium level of output, total cost, and maximum profit.

30
{b) Derive mathematically the equilibrium conditions of a firm. (07)
OR ' '

(a) For a perfectly competitive firm, the cost function is TC = 2 + 4Q + Q2 . If the price of

the product is Rs. 8, at what level of output is produced by the firm to maximize profits? (07)

(b) Write & short note on price discrimination. (07}

Q. 4 Explain the IS-LM model mathematically. : . (14)
OR

(a) Explain the trade cycle model of Samuelson. (07)

{b) Explain the Keynesian income determination model mathematically. (07)

Q. 5 Answer in shori. {Any seven) (14)

Explaln ordinal utility.
What is a hudget line?
Write the equilibriurm conditions of consumer equilibrium under utility analysis. ‘
Explain non-homogenous production function.
What is tha difference between short-run and long-run production functions?
What is the marginal rate of technical substitution?
State the characteristics of monopofistic competition. -
Write the equilibrium conditions of a firm.
What is marginal productivity?
10. Give the meaning of accelerator.
11. Define marginal progensity to consume.
12. What is effective demand?
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ZXG’S? (English Version)

Q. 1. State the factors affecting industrial location and explain Alfred Waber’s theory of industrial location. (14)
OR

What is merket structure? Discuss the various dimiensions to measure market structure.

Q. 2 What is industrial policy? Evaiuate the new industrial policy of India. . (14)
OR

Explain the problerns of the Public sector and discuss privatization as a measure to solve the problerms

of PSUs.
© Q. 3 What is social security? Explain in detail the government measures for social security in lndia: {14}
OR
Discuss the e entive and settlement machinery used to solve industrial disputes.
Q.4 Discuss the impm’térice and problems of industrial finance. (14)
OR

Explain various external and internal sources of industrial finance.

Q.5 Answer in one or twa lines: (Any seven) - ‘ (14)
1. Give the meaning of privatization.
2. ‘What do you mean by iicensing policy?
3. Vrhat s industrial economics?
4. Who did the first analytical study on industrial focation?
5. What is social insurance?
6. Inwhich vear did Company Law come into india?
7. Write the full form of IFC! and SIDBL.
8. Whatis the relationship between innovation and profitability?
9. What are small-scale industries?

10. What'is social assistance?
11. Define long-term a2nd short-term finance.
12, what is risik aversion in finance?




